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CAPM
CAPM Era = Rf + Ba (Rm - Rf)
Rf = the rate of return for a risk-free
security
Rm = the broad markel's expected rate of

returm
Ba = beta of the asser

Jensen's Alpha

o= Rp - [Rf+ (Rm - RA) B]

R = Realized ratum of periolie
Rim = Market retum
Ff = risk-free rabe

Wednesday, March 18, zo15

Example
Asstme the (clkeg o Azl €720
REs 3%

0
Ba=075

By Lsing CAPM, we cxeulate that yoe should demane
‘the Followeng raie of renum 10 est in Asser XVI-

Era=0.03 +[0.75 * {0.10 - 0.03}] = 0.0826 = B25%

Ler'stahea closer ook afthe ket isk Premiom

The questian we wowd al like io answer!

CAPM Limitations/Beta timates

+ Wo altermative model as widely used and aught s CAPM

+ Every sl b s pras ond cons
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CAPN

Lef's take a closer look af the Market Risk Premium

The question we would all like to answer!

AADU limibabinnna /Daka [ntimatan
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CAPM
CAPM Era = Rf + Ba (Rm - Rf)

Rf = the rate of return for a risk-free
security

Rm = the broad market's expected rate of
return

Ba = beta of the asset

Example

Assume the following for Asset XYZ:
Rf = 3%

Rm = 10%
Ba=0.75

By using CAPM, we calculate that you should demand
the following rate of return to invest in Asset XYZ:

Era = 0.03 + [0.75 * (0.10 - 0.03)] = 0.0825 = 8.25%
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